A = 0 & AF & & A A
2021 =04 28rE| T
AR MRS
2N MESAD
oM oays) Y ssey e CER-ED
ARG - 2A - B - BA(AA) - HRMY - BES Ol &k o e HDE 2
Mg e 3,959,924 3,788,361 171,563
2 1,461,972
Al 2,497,952
sP=N L wEe 22 2,636,910 2,517,620 119,290
2 1,207,940
Al 1,428,970
Mg =T MHIA A 2,236,910 2,259,220 ~22,310
2 1,207,940
A 1,028,970
JlBEs S HAMH 7S 200,000 300,000 A100,000
307 BI2H0| & 200,000 300,000 A100,000
02 BIABMMARE 200,000 300,000 100,000
OUF &gl & =4 200,000, 0002 200,000
sysZeL 33,500 100,000 £.66,500
201 2er2 2| 33,500 0 33,500
01 AR 22t 33,500 0 33,500
OEY2Y HEHZAN A2 W3 30,000, 0002 30,000
OEYBINE2E S TFY HAM&Z 3,500,002 3,500
BASYIYANY 2Y 14,700 21,800 A7,100
201 Yt 2 bl 2,700 7,500 £4,800
01 AR 22t 2,700 7,500 4,800
OHZSWEIANS 2 &H4 49 S
2,700,000%! 2,700
301 YPRHI 12,000 3,500 8,500
12 JIEt2 4 12,000 3,500 8,500
OHASHIZIANS ®2I S AHI24
12,000, 0002 12,000
SMME ADIAE SRAY 4,700 105,300 100,600
201 Lt 2 bl 4,700 5,300 A600
01 AR 22t 4,700 5,300 2600
O=mug a8 2 4,700,000% 4,700
HaRe 2A%A ASALYNR (HE) 180,000 140,000 40,000
2 90,000
A 90,000
307 21201 & 180,000 140,000 40,000
2 90,000
Al 90,000




M 23 H 1t
2SN L yEa e CEERED
8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
02 QIZ+AMAIHE X 180,000 140,000 40,000
OAIISSIUERD 22 & 248 T8 X
# 180,000, 000& 180,000
= 90,000
Al 90,000
AHEER S2AA ALY X2 (XH) 97,500 79,500 18,000
= 65,000
Al 32,500
308 AtXIHHMS0IH 97,500 79,500 18,000
= 65,000
Al 32,500
01 AIXNESHMBLEEXS 97,500 79,500 18,000
O EIZFHZUESRD A4 XIF 97,500,000 97,500
= 65,000
Al 32,500
SHSNSHH 2SR 100,000 46,000 54,000
= 50,000
Al 50,000
307 2I2tol & 100,000 46,000 54,000
= 50,000
Al 50,000
02 CItA AR E X 100,000 46,000 54,000
OJI=d8s s 29 100,000, 000& 100,000
= 50,000
Al 50,000
EBAZOIEN 29 453,000 499,000 A 46,000
= 297,000
Al 156,000
301 et 3 30,000 40,000 A 10,000
= 15,000
Al 15,000
12 JIEt2 43 30,000 40,000 210,000
OaaltA MZHX elHEE X3 30,000, 000& 30,000
= 15,000
Al 15,000
308 AtXIEHHMS0I& 423,000 459,000 A 36,000




= MEEE D
Hom: BN Y MEHY B CERED
RS - 2N - BH -2 (F) - MEMY - BES Ofl &+ o Oaﬂgi Hns
308 XbXI € 1 S 0l & 3 282,000
Al 141,000
01 HXEHMBAEES 423,000 459,000 236,000
O24A HLIE QHMES XS 423,000,0008 423,000
= 282,000
Al 141,000
NEX BAZUEH 29 18,000 15,600 2,400
= 9,000
Al 9,000
308 XbXI €1 S 0l & 18,000 15,600 2,400
= 9,000
Al 9,000
01 AXSHHBLLTS 18,000 15,600 2,400
ONEX BAEIAEH 2 18,000, 0002 18,000
= 9,000
Al 9,000
SPITIGHRRIAN (2 HE & ALE) 65,000 65,000 0
308 XX €1 S 0l & 65,000 65,000 0
01 HAESHBLLSES 65,000 65,000 0
oMemE PRI XS 65,000, 0002 65,000
SH0lE XX 1,045,410 832,620 212,790
=2 696,940
Al 348,470
308 X+ X EHH S 0| & 1,045,410 832,620 212,790
= 696,940
Al 348,470
01 MXSHBLRED 1,045,410 832,620 212,790
Oz 0lE HelX & 925,410,0002 925,410
= 616,940
Al 308,470
Ozd0E MEHEA 120,000,000 120,000
= 80,000
Al 40,000
sst2m o mael 21,700 40,800 £19,100
201 2Bt b 6,000 10,000 4,000
01 AL 22l 6,000 10,000 4,000
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2 A MEBAD
o om: oEy AZgt 7S (69l @
RS - 2N - BH -2 (F) - MEMY - BES Oll &4 Oaﬂgi HwsZ
OMEIER SX22 2223 = 100,002 128 1,200
O £ A2 25 76,500 95,500 A19,000
201 2Bt bl 6,500 66,500 60,000
01 AL 2lg] 6,500 6,500 0
O0tM A2 ¥592 £ 6,500,0002 6,500
207 & TN Lt 50,000 0 50,000
01 el R 50,000 0 50,000
OUNTMER MASZE TUHEZ 2 (H0 0, 21
BHAI) 50,000,000 50,000
308 X+ XI £ S 0| & 20,000 20,000 0
01 IXSHHBLLTS 20,000 20,000 0
ORNYE OIMES PX L M24 XN
20,000,000 20,000
O A4S ST BH 02 Al 126,048 245,070 A 119,022
= 84,032
Al 42,016
403 WX SHHEX 20| A 126,048 245,070 A 119,022
= 84,032
Al 42,016
01 UXSAT 2L 126,048 245,070 A 119,022
OOMES IaHCILAIS AXHl X2 126,048,008 126,048
2 84,032
Al 42,016
MEI A ARSI X & 21,666 21,666 0
= 10,000
Al 11,666
403 R SHHS K20l E 21,666 21,666 0
= 10,000
Al 11,666
01 HXSGH2EE 21,666 21,666 0
OMENAHAMEIAXISHAHSLE X 21,666,000& 21,666
= 10,000
Al 11,666
2INEIY 2el2d 681,240 524,740 156,500
= 100,000
Al 581,240




8- 2H - ZE-GS(BH) - HRAY - BYS 0l &+ o HI RS 2
201 £ B2 Hl 94,840 67,000 27,840
01 AFR2teltl 50,000 50,000 0

OXN&EZd 22 50,000, 000& 50,000
02 3323l 6,840 2,000 4,840
OXNESE 2 6,840,000 6,840
03 A2 Y| 38,000 15,000 23,000
OXNZZS3 BEHA S 38,000, 000& 38,000
202 o4 Hl 13,000 20,000 A7,000
01 =Ll 13,000 20,000 A7,000
OXNESE 2 && 13,000, 000& 13,000
203 Y =&l 3,600 0 3,600
03 Al® =2 R=AH| 3,600 0 3,600
OAMNMALRFEHI 3,600,000 3,600
207 & SO 2 h| 50,000 0 50,000
01 22 EHHI 50,000 0 50,000
OUE MY MO A 50,000,000& 50,000
301 LEtE2E N Z 266,800 100,640 166, 160
= 100,000
Al 166,800
09 HALAHIXI& 3 20,000 20,000 0
OXNZZS3 BLHA S 20,000, 000& 20,000
12 JIEt2 43 246,800 80,640 166, 160
OXNZEZE HEA 2F 246,800, 000& 246,800
= 100,000
Al 146,800
307 2I2tol & 42,000 5,600 36,400
02 QItB AR E X 36,000 0 36,000
OXNZEZ& ACXNE &4 36,000, 000& 36,000
12 QI2tQ1 2 & W = H| 6,000 5,600 400
OXNZEZE oH&EAt |IEW=HI 6,000,000& 6,000
401 Al EHI L 2 THYI 201,000 301,500 100,500
01 Al£HI 200,000 300,000 100,000
OXNESE EYAME =4 200,000, 000& 200,000
03 AIER0idl 1,000 1,500 A 500
OXNESE SHAME =4 1,000, 000& 1,000
405 THAHF S HI 10,000 30,000 220,000




2N MESAY
¥ o qosy 0 s GERD
RS - A - FEH - GA(SH) - HRAY - BHYS 0l &+ o HI RS 2
01 X HSSHSHI 10,000 30,000 A 20,000
OXZESA ot 23 ¢ 10,000, 000& 10,000
MEHH WS ME S XIALY 90,000 30,000 60,000
= 60,000
Al 30,000
308 Xt Xl A S0l & 90,000 30,000 60,000
= 60,000
Al 30,000
01 AIXNSHBLEES 90,000 30,000 60,000
OMEHntME & X XA 90,000, 000& 90,000
= 60,000
Al 30,000
HY2HZH| 31,835 31,835 0
2y (Mgsd ) 31,835 31,835 0
A2 31,835 31,835 0
201 L Er2IH| 18,150 18,150 0
01 AFR2eldl 18,150 18,150 0
OfM2I+=2H| 9,750,000& 9,750
O=&l 8,400, 000& 8,400
202 o4 1l 8,885 8,885 0
01 =LA bl 8,885 8,885 0
OSZEd J=g: =380l 8,885,000 8,885
203 B2 =&l 4,800 4,800 0
04 EA2EHRF=EHI 4,800 4,800 0
OFM2IZRFEH 400,000& x12& 4,800
H2as(MasZdn) 284,525 291,330 6,805
HEHeH X = 284,525 291,330 A 6,805
Oz dclzae 284,525 291,330 A 6,805
705 0= dcl=4aE 284,525 291,330 A 6,805
03 Al - SXGHEISUH=ZAI LS 271,800 271,800 0
OA e HOHOIN MEHSEZ2 ¥ SAFHZ
271,800, 000& 271,800
04 Al - EXISIHE IS0l === 0l KH&+ & 12,725 19,530 A 6,805
OHL4A ZOHOIDM MEHSZE & =sX=5HAE
12,725,000 12,725






